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t Test chart eeq2; Equal 9 step grey scaling for fo
8

blackL*N cieLAB=3.61,YN=0.4 and whitd*\y cigL AB=95.99,Y\w=90, normalisation: whitgV
] M Y [0) L

V L o Y M
http://farbe.li.tu-berlin.de/eeg2/eeg2lOna.txt /.psonly vector graphic VG; start output
see similar fileshttp://farbe.li.tu-berlin.de/eeq2/eeg2.htm

'

Equal 9 step grey scaling betweeb* gon=3.6 andL* go,v=95.9, Yoref=2.5, normalisation whiteW

Equal 9 step grey scaling betweeb* g,pn=3.6 andL* gaw=95.9, Yore=20.0, normalisation whiteW

L*0an=3.6,L*0a=49.8,L*0an=96.0, Yoan=0.4, Yoa=18.2,Y0aw=90.0,Coay=Yoaw: Yoan=225.0
L*tan=19.3,L*1a=52.1,L*1an=96.0, Y;an=2.8, Y;au=20.2, Y;an=90.0,Ciay=Yiaw: Yian=31.9
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PAL* min] / [AL* max], L* cieLas = 116 [Y/Y,]1/3 - 16 with Y >= 0,882,Y,=100

g%= 99, g%= 99 g%= 58, g%= 48 g%= 91, g%y= 89

L*0an=3.6,L*0am49.8,L*0an=96.0, Yoan=0.4, Yoa=18.2,Y0aw=90.0,Coay=Yoaw: Yoan=225.0
L*tan=47.9,L*1au=62.8,L*1aw=96.0, Y;an=16.7, Y;au=31.3, Y1an=90.0,Ciay=Yiaw: Yian=5.4
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PL* min] / [AL* max], L* cieLas = 116 [Y/Y,]1/3 - 16 with Y >= 0,882,Y,=100

9%= 99, g%5= 99 g%s= 24, g%5= 16 g%= 93, g%= 86

L*cieLaB  intended output real output linearized output L*cieLag  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 1124 *a Al*la n0.i L*0a L*Or YOa YOr ;L*a Al*a L*r Yta (L*tr) 1168 *a Al*a
1007 (Mo 90 120 900 10! 9.0 10 900 10 96.0 1007 (Mo 90 10 900 10! 9.0 10 900 10 96.0
: 11.2 9.2 : 9.2 5.7
8 844 0875 649 072 848 0.854 656  0.88 86.8 8 844 0875 649 072 86.7 0.808 69.5  0.881 90.3
: 11.1 9.4 : 8.7 6.0
75T (7 729 075 450 0498 737 0.709 462  0.758 77.4 75T (7 729 075 450 0498 78.0 0.626 532  0.757 84.3
: 10.9 9.6 : 8.1 6.2
6 613 0625 296 0326 62.7 0566 31.3  0.632 67.8 6 61.3 0625 296 0.326 69.9 0.458 40.6  0.629 78.1
: 10.7 9.9 : 7.1 6.3
50+ @5 498 05 182 0199 521 0.427 202  0.504 57.9 50+ @5 498 05 182 0199 6238 0309 31.3  0.498 71.8
: 10.2 10.1 : 5.9 6.2
.4 382 0.375 102 o.11§ 41.8 0.293 12.4 0.372 47.9 .4 382 0.375 10.2 o.11§ 56.8 0.186 24.7 0.368 65.6
: 9.4 10.0 : 45 6.0
25+ @3 267 025 50 0051 324 0171 7.3 0.241 37.8 25+ @3 267 025 50 0051 523 0.093 204  0.244 59.6
! 7.7 9.5 ! 2.9 5.4
@2 152 0125 19 0017 247 0.07 43 0.117 28.3 @:2 152 0125 19 0017 494 0.032 17.9  0.131 54.2
: 5.4 9.0 : 16 6.3
oL@ 36 00 04 00 193 00 28 0.0 19.3 oL@ 36 00 04 00 479 00 167 0.0 47.9
. : atinn- Yoait Y . : fatiam. Yoait Y
AL*g=115  (i=1.2...,8) | normalisation: YtaiW:YOaWYOO:\IN_Fi%(?;f AL*o=115  (i=1.2,..,8) | normalisation: \(taiw=Y0awYo‘)aa\'m7$f£fef
eeq20-3n eeq21-3n

Equal 9 step grey scaling betweeh*o;,st.G andL*paw=95.9, Yoref=10.0, normalisation whiteW

Equal 9 step grey scaling betweeh*ogN=3.6 andL* gaw=95.9, Yoref=90.0, normalisation whiteW

L*0an=3.6,L*0au=49.8,L*0an=96.0, Yoan=0.4, Yoau=18.2, Yoan=90.0,Coay=Yoaw: Yoan=225.0
L*tan=36.7,L*tau=57.5,L*1aw=96.0, Y;an=9.4, tau=25.4, taw=90.0, Gay=Yaw: Ytan=9.6

L*0an3.6,L*0au=49.8,L*0an=96.0, Yoan=0.4, Yoa=18.2, Yoan=90.0,Coay=Yoaw: Yoan=225.0
L*tan=73.0,L*15=78.5,L*tan~96.0, Y;an=45.2, Yiau=54.1, Y;an~90.0,Cav=Yiaw: Yian=2.0

Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps
g* = 100 PAL* min] / [AL* max], L* cleLaB = 116 [Y/Yq]Y/3 - 16 with Y >= 0,882,Y,=100 g* = 100 PAL* min] / [AL* max], L* cieLas = 116 [Y/Yq] Y3 - 16 with Y >= 0,882,Y,=100
g%=99, g'g= 99 g%= 33, g'g= 24 9%= 92, g¥y= 88 9%= 99, g%5= 99 9%=14, %= 9 g%=92, g=71
L*cieLaB  intended output real output linearized output L*cieLag  intended output real output linearized output
n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 1152L*a Al*la n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*r) 120 L*a Al*a
1007 (Mo 90 10 90 10] 9.0 10 90 10 96.0 1007 (e 960 10 90 10] 9.0 10 90 10 96.0
3 10.3 7.0 : 55 2.9
8 844 0875 649 072 857 0.827 67.4  0.882 89.0 8 844 0875 649 072 905 0.762 775  0.873 93.1
: 9.9 7.3 : 4.8 2.9
75T ()7 729 075 450 049 758 0.659 495  0.759 81.7 75T ()7 729 075 450 0498 858 0554 675  0.745 90.1
3 9.5 75 3 4.0 2.9
6 613 0625 296 0326 663 0499 357  0.632 74.2 6 613 0625 296 0326 817 0.379 59.8  0.616 87.2
: 8.8 7.8 : 3.2 2.9
50- @5 498 05 182 0199 575 0.351 25.4  0.501 66.4 50+~ @5 498 05 182 0199 785 024 541 049 84.3
: 7.7 7.8 : 2.4 2.8
@+ 382 0375 102 011 497 022 182  0.369 58.5 @+ 382 0375 102 011 761 0.136 50.1  0.369 81.5
: 6.2 7.6 : 1.6 26
25+ @3 267 025 50 0051 435 0.115 135  0.24 50.9 25+ @3 267 025 50 0050745 0.064 475  0.254 78.9
: 4.3 6.9 : 1.0 24
@2 152 0125 19 0017 391 0.042 107  0.123 44.0 @2 152 0125 19 0017735 0.022 46.0  0.148 76.4
: 25 7.3 : 0.5 34
oL @: 36 00 04 00} 367 00 94 0.0 36.7 oL @: 36 00 04 00730 00 452 00 73.0
. eatinn: YoaitYoref . ieatinn: YoaitYoret
AL*n-=11.5 i=1,2,...,8)  normalisation: Yaiw=Y( Fal_Jrel AL*0-=11.5 i=1,2,...,8)  normalisation: Yaiw=Y( Aal_urer
Oa ( ) ; aiw 0aWYOaW’LYOref 0a ( ) : taiw 0aWYOaW"'YOref
eeq20-7n eeq21-7n '

ur display reflettigirs2,5, 10, 20, 90, and
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